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And the other one; that comes for a @'"s3 - RAIRT X7 7 7779739 7N

Overview

The o151 maintain that only a 72371797 is ¥X71, but not a Xy 121. They derive it
from the P10 of! 31 IR X PNTR ¥¥N (which is written by 7"°2 1717151) that only the
ear of a 7217121 is ¥¥13, but not the ear of a ¥y 121, However, 71998 ' disagrees
and maintains that even a ¥y 7212 is ¥X¥13, and regarding the word 17X, that cannot
be used as an exclusion, for it is needed for a w"1 (to teach us that the right ear is
yx11).2 MdoIn explains the response of X" to the anon.

= 51798 YN N9 NNNY P98 31929
The explanation of the response is that it is necessary that this ¥"1) be vacant
from both sides —

Mmoo explains why there is a necessity that the w"1x be 0°77% 'an m12m:
= 71925UNY P99 (3,33 97 1) IINRT INI NIIN SN T8 NIN 1399 NN INYT

For if it is not 2>77% '2n 719%, but only 7R 732 there will be a difficulty using this
v"1), for there is one who maintains that a w"t which is 71912 only X 7¥71, you

may utilize it, but it can be refuted -
$NY9IN 2IYI NN TIN XY PPV 19Y YNSNY 13 799599 NIINT PAIYUN NI

And what is the refutation, for we can challenge this "1 saying, that by a pya13»
there is a requirement for 1 since a ¥7I¥1 requires an NY®IN "1 2TRY TN 7Y,

11,83 (o°vawn) maw.
2 It says MK here by a ¥%71 and it says MR by a ¥y1%» (in 79,7 [¥M¥7] X7p7) that 0°anoa 70T 1R 70 Y 101; just as
by yxn it is the right ear, the same is by a y¥n1.
3 The word w178 is used when there is a necessity for further clarification. The @221 cite an exclusion from 1. The
response of X" is that 117X is needed for a w"t. The question is why cannot 117X be utilized as a w"13, and also as a vV1¥"»
to exclude 1mxy 15Mm?!
4 mo1m (or vacant) means that the word(s) used in the w"Tx are not needed to teach us anything else. 177X *1wn 710Mm
means that both words from both ‘sides’ of the " are not needed to teach us a special law.
5 If we utilize the word 117X as a V19 (to exclude ¥y 10 [as the o°non maintain]), then the w" 13 will not be 'an 7197
2>77%. Since the 1R by ¥¥11 is needed to teach us that ¥X11 1K 17Xy 101,
¢ The word 118 by ¥y™¥n (in 712 P10D; see footnote # 2) is 7191 because the 771N already mentioned 1% previously (by
a ey 3]11273).
7 A w"m which is not 719 at all, cannot be utilized to derive any new rules. A w"r, which is 2°77¢ 'an 719M can be
utilized to derive new laws, even if there are reasons to distinguish between the cases (this is called P2°wn PRY 1P7°17).
Regarding a w" which is TR 781 71917 there is a dispute between 7Xvyaw» "1 (who maintains P22wn» 1PX) 171%) and the
1137 (who maintain P2°wm P71n° [if we can distinguish between the two cases]). See ‘Thinking it over’.
8When the ¥11¥1 begins his initial 77770 process he must bring (two birds together with) an 17X yv (a cedar branch) 2%
(translated as hyssop or moss [a low growing plant]) n¥71n "1 (and a scarlet dyed thread). See 7,7 (v1%2) X,
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however a ¥x¥11 does not require these items, therefore we would not be able to derive ¥¥71 from
yxn, despite the w"ra. However if it is 2°77% "2 71917 the rule then is P2°wn 1R P17, therefore we
cannot utilize 11X as an exclusion, for we need 11X to be 719 for the w"n.’

Summary
According to one 7" by a w"1a which is 'R 7¥1 7197 we are 1°2°wn, therefore 121X must

be 71917, otherwise we can distinguish ¥y11¥» from ¥¥71 since a y1¥» requires 1IN 7V
nY?IN C1WY 2.

Thinking it over

Mmoo writes that there is a 7"» that by a w"m which is 'R 782 719w, we are PP7R°
P2wm.!% The X3 in (R,77) NMn2° states that (our) MY?X 'Y maintains (according to
X29) that a "1 which is 'R 731 719 the rule is 12°wn) 1P7n%. Why does '0'n merely
say that P2wm 17n% 7"a% R2°X, when mo01n should have said that &"1 maintains
PWwm P1nb (for we are discussing the view of X"7)?!11

%1t is evident from the X3 shortly that all (even the 0121) agree to this w"13 that 7% means P,
10'See footnote # 7.
1 See 701 Mnxy.
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